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In this issue we are going to present a solution of problems
which involve weaving areas of tébby, huckaback, and huck-lace, all
in one project. Although we divide this subject into two parts: four-
shaft projects, and multishaft projects, the first article should be
read as an introduction to the second.

To make the presentation clearer we shall adopt a different
type of drafting the huckaback. The type we have used so far may be
called American, when the one we shéll adopt now is Scandinavian.

For four shafts the American method is better, but for multishaft
drafts the Scandinavian one is clearer. Thus to be able to use the
four-shaft drafts as an introduction to the higher techniques we must
adopt the same way of drafting for both. Fig.l shows the relationship
between the two drafts:
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Fig.l

The difference between these two drafts is: 1) that the shaft No.l
becomes No.2; shaft 2 - 3; shaft 3 - 4; and shaft 4 - 1; and 2) that
the order of treadles is also changed, so that tabby is on the left.
Such order of treadles would not be very practidal but it helps with
the theory.

Thus the shafts 1 and 2 are now "ground shafts", and the re-
maining shafts: '"pattern shafts". Exactly the same order will be ob-
served regardless of the number of shafts and treadles, that is:
shafts 1 and 2 will be always ground shafts or tabby shafts, and the
last two treadles counting from the right will be tabby treadles.

Each complete block of pattern (lace, or huck) takes two
extra shafts, and two extra treadles, but there is laso a possibility
of weaving half-blocks, which makes the whole problem more interes-

ting but also more complicated,
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HUCK & LACE ON FOUR SHAFTS

There are actually four different textures which can be woven

on a huckaback threading: tabby, huck with horizontal floats, huck

with vertical flcats, and lace. It seldom happens that all four are
required in the same piece of weaving, and if so then we rust have

8 treadles or a skeleton tie-up. Fig,2 shows how this looks:

X X X 7000 ©
*x X« x*x X X l0008 o 9
X X
xXx* *x x X X X XX'X'xXx oo oo
87654321
mmmmmmmmMmmmmmm mm o X
m mmmmMmmmmmmmmpmumm X
mmmmmmmmmmmmmmm m X
tabby mmmmppummmmmmmmmmmm! X
mmmmmM$mmmmmmmmMm o iX
m mmmmmmmmmmmmmm | X
. mmmmmmpmmmMmmmmmmm X
horiz. mm mmmm mmum m m@Mm m mom m ! X
mmmmmmmommMmMmmMmummpm ix
huck mmmmmmmmmMmmpmMmupmmm ble
m mm m ommmm mmm momam mmm b'd
mmmmmnmmnmmQm™mmmumpmimpmnm X .
mmmmmmmmmmmmmm m [x Fig.2
mmmmmmmmmmmmmmmmmmmmmmmmmmmmmm xx
vert. mm m m m m m m m mmm b4
mmmmmmmmmmmmmm m X
huck m mmmmmmMmmpmmmmmimpmam X
m m m m m m m mm m m m X
mommmmMmmmmmmmmumm X
mmmmmmMmmm@mmmmmmup (X
m m m m mmmmMmmmmmmmm X
mmm@ummmMmmmmmmmmm X
m m m_mmm mmm mmm m m m X
mmmmmmmmmmmmumnmnm b4
lace m o mmmmmmmmmmumpmmpm X
mm m mmm mmm mmm m m x
m m m mmmMm@pmmmMmmmmBpm X
mmmmmmmmmumpmmmm X
m mmmmmm@mmmmmmm} X

The threading is very similar to treadling, and the latter
If A= ?’

6 we have horizontal huck.

and B = 8 we have
If A = 3, and
have lace. What

follows a regular sequence: 8 A 8 7 B 7,
tabby. If A = 5, and B =
B = 4 we have vertical huck. If A = 1, and B = 2 we

makes different texture is the tie-up.

It takes two treadles for each texture. Let us then consider
the four pairs of treadles. All pairs are identical in their lower
part corresponding to shafts 1 and 2. It is the upper part which makes
the difference. Thus for tabby the upper part is 0° ; for horizon-
tal huck: 89 : . We shall

see later on that this is the whole key to the multishaft huck.

for vertical huck: ;y and for lace: °

When weaving large blocks of huck or lace on a tabby back-
ground, we find the draft as in fig.2 quite satisfactory. But when
the blocks are very small they will be obviously unsymmetrical. To

correct this lack of balance we must add one half of a huck unit

at the end of each block in threading, and the same must be done in



treadling, with the tabby adjusted as may be necessary. Fig.3 shows

an example of such a small pattern in which

used: half-a-ulmit of vertical huck, half of

half of lace.
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There is a large number of possible

textures, and experiments should be done on

graph-paper.
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combinations of these

the loom rather than on

We shall give drafts for two PRACTICAL PROJECTS. The yarn,

sett of warp etc. are as usual for huckaback. Fig.4 shows a draft

for large blocks, and fig.5 a draft for small patterns.
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Treadling: 656565 - 12x; 636545 - 4x; 656565 - 5x; 616525 - 50x;
656565 - 5x; 636545 - Lx; 656565 - 12x.
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Treadling: 565656 - 12x;

(525616525616525; 656565 - 5x; 6
525; 656565 - 5x;) - 9x;
525616525616525; 656565 - 12x,
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Here as in all huckaback project it is very important to

weave an exactly 50:50 fabric.
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MULTISHAFT HUCK & L ACE

With a higher number of shafts we have not only a higher num-
ber of blocks of pattern, but also the possibility of having indepen-
dent areas of huck or lace in both directions, and not only in the
vertical, as is mainly the case with four shafts. Figs.6 and 7 illus-

trate some of these possibilities.
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In fig.6 we have a large diamond of horizontal huckaback,
a small diamond of vertical huck inside, and 1% unit of lace right
in the centre. Actually the lace and vertical huck merge., The tie-up
except for tabby looks more as a high twill than a huckaback. This is
because we are not using here both treadles of each block of pattern.

How do we arrive at the tie-up then?

The method used for large blocks is comparatively easy, and
we shall describe it first. Patterns shown in fig.6 must be handled
in a different way.

When working with large patterns written in full units of
huckaback, we first make a sketch of the pattern desired, and then
a short draw-down on graph-paper. We use four different symbols for
the four textures, For instance blank spaces for tabby, "=" for hori-
and "x" - lace,

zontal huck, "o" - vertical huck,
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Then of course we analyze the pattern in the same way as for
instance Swivel where differeant symbols must be used for different
colours. Since the draw-down is made as a short draw-down (block-out),
after analysis we shall get a profile instead of a threading draft,

a short treadling draft, and finally a short tie-up with the same sym-
bols as used in the draw-down. Fig 7 is an example of such analysis.
To develdp this short draft into

mmmmmmmmmmmm = g% a full one we first replace squares
n™® My | =7 ("m") in the profile by units of

———mmmomem—mo—e- mg huck or tabby. These units are as
- gt i follows (numbers indicate shafts):
I 99898886 Iz il &
II  O0%EEX6® - i ol . - ground (the lowest line of the pro-
e S S St - i Fie.?
~= OOXXXX00 -—- m file): 212121; l-st block of pattern
oC 83888888 == %
-z - | m - 2321415 2-nd block - 252161; 3-rd
-ITZoTZTZZzzzzzzE ghﬁ i block - 272181; 4-th Wlock - 2,9,2,

1,10,1, And so on. Thus our draft
will be as in fig.8. We replace here each '"m'" in the profile by 3
units of huck. It could be as well 4, 5, 6, or more units according

to the size of the woven article.
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This draft when written as above in a condensed form looks
very unsymmetrical, but with large blocks it does not matter. Now for
the tie-up. Each tiny space of the short tie-up must be replaced by:
&;ﬂ for tabby;iggffor huck (horiz.);[:J for huck (vert.); and @51 for

lace. What we get then is shown in fig.9.
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This is the only method of designing patterns, Any "trial-and-

error'" method could be tried only on a table loom without tie-up.
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Drafts with small blocks and irtricate design must be symme-

trical as in fig.6. This means that w2 are using normal units of huck

£

-1

(in threading) when the diagonal on pattern shafts goes up frim lef”
to right, and reversed units when the diagonal goes down This is
not quite precise description however of what happens, becsuse the
central unit is always deformed., Thus we can say that we make the
first half of the draft from left to right in the usual way, and then
reverse it from the centre,

The tie-ups are tricky because we do not need all treadles
required for all combinations of blocks and textures. For instance
draft in fig.6 has six such combinations, and should have 2 x 6 = 12
plus 2 (for tabby) = 14 treadles. Yet, since we are using only one
half of esch unit, we need only 8 treadles tabby included.

The best way to establich the tie-up for small patterns is
to make z complete draw-down, and then analyze it.

For larger patterns of the same type we make a short draw-
down, and also analyze it. But this time a square of the profile re=-
presents one half of a unit. Thus the first line of the profile cor-

responds to tabby, and has an even

mmmmm —-_052 number of squares. Each two squares
e m_ Ta mean either: 121212 or 212121, which-
— m% m ever fits the next half-unit of huck.
- : mmm The second line (one square) is: 232;
oL Tm_ the third: 141; the 4-th: 252; the
- O0=0=0 =~ ! m|
-_o=0 -7 | . S-th: 161; the 6-th: 272; the 7-th:
- - m
- - ! L(gmm 181.
B The short tie-up (fig.10) is the
Fig.1l0 result of analyzing the draw-down,

but this time the symbols indicate
only the directions of floats: "-" for horizontal float, and "o" for
vertical float. When the two floats alternate in both directions we
have lace, so that there is no need to introduce a third symbol.
To produce a horizontal float, we must add one tie to the

tie~up af a tabby treadle, and to produce a vertical float we must

remove one tie from a tabby treadle.

To start translating the short tie-up into a full one, we

first mark tabby tie-up on all treadles (fig.l1 A). Then we fill the
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tabby treadles and the ground shafts (fig.ll B). The next step is to
add the ties for horizontal floats (fig.ll C), and then to remove th=»
ties for vertical floats (fig.ll D). Finally we replace the remaining
dots by circles (fig.ll E).
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When we compare this tie-up with the one on fig.6 we find
that they are identical, which is as it should be, because the short
draw-down in fig.l0 represents the same piece of weaving as the draw-
down in fig.6.

There is one more guestion we must answer: what if we have in
the same project large areas of huck and/or lace, as well as small
symmetrical patterns?

Here we wannot use the method shown in fig.?7. We must proceed

as if the whole project were of the second type, that is as in fig.10.
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QUEFF N OVERSHOT o

I believe that it is Saturday Evening Post which publishes
short quizzes under the provoking title: "So you think you know base-
ball?". The same could be done with Overshot. There is no end of
puzzling problems. Here is one.

If we consider a very small pattern of four blocks, all of the
same size, the question is: how many symmetrical variations of this
pattern can we weave?

There are three traditional variations @,B,C fig.l), and the
three variations which appear at the back of the fabric (D,E,F).
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But in theory there should be two more variations with four blocks of





